6-4) A 32x8 RAM Chips uses coincident decoding by splitting the internal decoder into row select and column select.(a) Assuming that the RAM cell array is square, what is the size of each decoder, and how many AND gates are required for decoding an address? (b) Determine the row and column selection lines that are enabled when the input address is the binary equivalent of (20100)10. 

6-10) Using the 64K x 8 RAM chip in figure 6-16 and plus a decoder, construct the block diagram for a 256K x 32 RAM.

6-14) Tabulate the truth table for an 8 x 4 ROM that implements the following four Boolean functions:

A(X,Y,Z) = ∑m(3,6,7)

B(X,Y,Z) = ∑m(0,1,4,5,6)

C(X,Y,Z) = ∑m(2,3,4)

D(X,Y,Z) = ∑m(2,3,4,7)

6-15) Obtain the PLA programming table for the four boolean functions listed in problem 6-14. Minimize the number of the product terms. Be sure to attempt to share product terms between functions and to consider the use of complemented (C) outputs.
